650-8
19(1) 3940

0847-6
0847-67

-24772
-3808

111572




47 2

4.

25.0 x6.0
116.78
88 8.88

+25.0x0.

10.

17

21.

3 x2

11

165

21.

ILi{—2%

47

12

20

H

10

0 e 00eeeeeee

11

12

13

14

15

16

17

18

20

19

20

21

22

O | 10000

23

24

25

26

12 3

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

K'Y

0000 ee0e

47

A- 6

(JISA1481-1(2016)

650-8
19(1) 3940

0847-6

0847-67

-24772
-3808

111572




(1)
47
25 x3 (@]
(2)
12 ® Ad
(1) (3)
(2) 2 (2) (3)
(4)
(5) ®
JIS A 1481-1  J1iS SA A 418418 12- 3
a4
(1) ®
(2)
1.1.13 @ @
(3)
(1) O 2
(2)
A4
O (3)
8 o
OA4 1 A4
(4)
< > @
(o]
(5)
© © ® a 5 ( )
( )
o]
@ JIS K 3850-1
o
1 /
o) (1) (2) (3) 2 : : = o 7
(4) 5 47 10
’ ®
6.3.2(1)
O O 4
900mMmx600mm
o]
O CORI NS © ®
1.5
® 0 ©
PCB "pcB @ 10 6 5 97 ® .
(@]
1
o) o) o @ o 1 A3 1 1 <1.8.1 3>
[ o O 1 o
2
3
o
, HD (@] @ 1
o
[¢] o 1
o O o
(@]
cca 1
(1) o
(@]
) @1 1
( ) 6.1 6.2.1 6.2.4 6.2.6
(2) (4)
(3)
15 30 50
100
o 25
30 50
O 100
http://chotatsu.pref.hiroshima.lg.jplfaslp/iindex. html
© (1)
(2)
(303) 6.3. 3
6.3.4 () (O () ()
650- 8 0847-61T-2472
4 No. A -
19(1) 3940 0847-6717-3808 111572

s A

148



650- 8
19(1) 3940

0847-6
0847-67

-24772
-3808

111572




No .

111572

3808

61 -

3940 0847-

19(1)




t=150
——————————————————————————————————————————— ] ] 240f9- -]
H 1500 400Wx1 V
t=150
——————————————————————————————————————————— ] ] 24000- -]
H 1500 400Wx1 V
t=150
——————————————————————————————————————————— ... EHLW e —— —,———m o, 2600~ ]
400Wx1 V
t=150
——————————————————————————————————————————— ] ] 22000- -]
t=150
——————————————————————————————————————————— ] ] 300[0-——-—-——mmm ]
400Wx1 V
t=2.0
t=2.0
t=3.0 t=3.0
2 W= 50
t=2.0
t=150
W 2600 2650 6,500
t=250+350 550
H=2750
L)
(]
(o]
° S
%
t=150
914x1829x%x2pP 58
S NS

650-8
19(1) 3940

0847 -
0847 -

6

- 2477
61 -

3808

111572




160

-
30005 1850, 1750 2550 , T 4000 N
o
1
-4 § % 2
et -) hutai 7
| = _] |
I I
| | o —
|sop 25000 80p = 4
T i w
I I
: : g g () ()
| | [32] (32
ol i g ! 25.00 * 6.60 165. 0 10.175
0 | I
> 3 I 30.005 * 9.85 - [215350.0549 25 60 21.126
1 ! -~ ———— —e
X X 1.85 * 5.50 10.175 1 4.88
I I Q
I I 3600 g 2.55 * 8.285 21.12475 2 8.88
I I
X X | 0 1.75 * 3.10 5.425 165.00
[ | | S
| =5 e - ! § 3.60 * 4.245 15. 283 - -] 116.78
Lo S e - ! ( 0.5 + 0.99 ) * 2..40635 2 + +23.113
! 3230 | : : . T :
I 4.00 * 1.22 4.88
l — ——e
5] L\\\\\\\\~ S 1.60 * 5.55 8.88
o R —
S=1/100
, 137080p 25000 ,80p 2025 1850, 1750, 2550
4000 1570 180
I
1 o H=1800 H=140 0[] .
] %"\ == W=300 — QQ
& T I T —/
' g § L DDQQ
I} — — H H
| o
1 = | 1 I _ g
! /=i 8 |=I| 2 |H= I
E P INE
Iﬂ“: 1 1
: g T g ol
: 80D 1950 \ H i
] § H
J: 8 25mx3 H=1100 1] C 1
IIII‘
l>a25ps0p B B ) B B B ) ) B B B B L 0 =
) T &
I  E—
I = S =
: 11 8 . 1
]
| % / 0
| H=1500 I
T T R e e e e e s ljjjj’
I
——

$=1/100 —

( A2=100%,A3=70%

o

650- 8 0847-671T-22472
19(1) 3940 0847-671-380g°> /100 111572 No- A




GL

_ 5
137080p 25000 ,80p 2025 1850, 1750, 2550
4000
400/ !
® []
hd | 400
| L]
! T g 1 g -
U IS =
I8 7 2
'3 40A 40A
] If o
> | 3 H-
| (i T
> -
| sop| 1950 L g
2 NB | 3
@ «l H .0 1
s % J: % 25mx 3 H=1100 1T l - Lr . ,.l}j’ ]
® ! 1 g K [ +—
b4 1
S 10831359 | - - 1 - - - - - - - - - [ |
= 2a25psop HE1s[o
5] s5efslo] 60 ( ) Ig',“' I - g g 0
L 11 0%p °© ! L] H e
4 | I 4 o
L
i 1o 40A -@ II ! |I — \H\Hﬁf\\u 1 ﬁ
.3 . = = = = + —H <,
s | : 1 g T K__ [ [ 1
5 (8 | 2 s | |1r50
g s ! 3 O HE1500 8 200
500 - 7[/ 8
| H=1500 |
T - B ——————— w209 — — ———————————=——————————————— F———— (= \
t i — | 3
)>\ Z |I \\\\\‘T‘%\\\\ “_%Eg
AN I
—_ —
$=1/100 B 80 \\L\ l 2400 sLao o
4 Q o
H 1200 . A 300 S
8 1
120 15— el | 9 130 @200W 2
" 2170 25000 2760 Hiso 8 n /_ - g
® o @
8 H o ! =
g g 1 8 5o$82i150
H H o j=] '8}
2 1. 1 S o 5
S o 0 u o
2 ST 0 [ o i § E—
GL ‘8‘ g 25mx 3 H=11L0 GL g l%léo — <) _@_0_ 3 oL
- g - - - - - - - - - STy — g
\ (<] Al_l [32] = =1 g
l ZTZT & B A yazsa v7ava ZIZT <
g \ 0 TECET £4 200400
130@200 W 150
80p 25060 2 50 ' 150
' 250 500 90@200 '+‘+'/_ 1-130®
i o
N
Iﬁ"' )~ 9®@200
. _ — ‘o
B B $=1/100 g 130
| | =4 90@200
° |
o n
- =
] 45
792 903 /S:
vy
oL . 117p 8 w=770 4 /_1600><150 12
B = — =B 7 =Bt
“ H 1200 49 FH 30 GL
| GL H_"_§ GL _ p - H_o_§ ( )
5=1/50 | - \ |A A 5=1/100 | A A $=1/100 |
( A2=100%,A3=70%
650- 8 0847-671T-2472
19(1) 3940 0847-67-3808°> /100 111572 No- A




<m

Hl
i

%
N

< . t=150 ( )
150

AB 25mx3 H=1100

00

H H. H
\
A
(@]
T

ELE
T

Aé
t=150 ( )
o
L 8
W I |2 I}
\ I (]|
\ 8 8 IH TN [ T 17
] ] 1l N1 §
1l N 3
Y I | 8\ I I |
i ; —‘2* § H H H H N H = 3
5 - 1 : H L 0 H H 8
é

I
8
?

' T §
8 £ N
Sl | H 0 AN TS e e e — [
81— — \/ 2C-60+30% fas —— I CoTICTTIE r \ H
1 || ] 130 I I | 3 H Q
] IH ] — - - o 1 E—" | T i HE & — [l X
8 — — [ — 8 H H = H R I 1 0
S ! /g 3 i= A i N 2 || ! X :% X 2 § —
- H— H y ot | | Q ,_
n \ Q -— - O 3 [ N .
8 i 3 g - = f ] 3 _ﬂ_J__ LI ol o \ 8 E_
—e

C-75*45*15%1.6 H=1800

430 4000 430 Q22910
—eQ
‘ : 1 T
o |
2C-60*30*M0*1 3 ] /_
750 i ]
130 \ | i 4,_%
9 8 - c-po*30*10*1]
& Q =t @ C-60*30710*1.6 H=2[poO ] S
[y B H=1800 N C-60*30110*18p HH200 S
A I / Sz 2C-60*30*J0*1.6 N L
n . e ff o W=150 2C-60*30*10*1.6 2C-60*30* 1
—0-§ . o . = ( ) —& )
T
| 4000 | | 4000 | | 1224
T T T T T T
280 280 280 280 230 180
130 550
N > ©1600° %,
. 180 5500 180 | 1 $=1/100 | 1
\ 1 é E\L\'
-/
1050 \ C-60*30*10*1.6 H=.{ C-60*30%10*1.6 g:z 0 g
_ * * * ~
8 2 ~— Zcuégofgofg ; 2C-60%30*10*%1. S— L& ebr30+ 4
2 ] W=150 & : — 0-60*60*%2.3
2 S g
&8 = 3
bl |«,. 5500 5500 1600
d ? ? ? ? ? ?
E] 130 130 130 130 130 280
| 2 $=1/100
650-8 0847-61T-2472
i S 17100 .
19(1) 3940 0847-67-3808 111572 No- A




137Q80p0 25000 ,80p 2025, 1850, 1750, 2550
t=3.0
t=2.0
w=50 2
( )
S =
™ I I
] ]
8 | |
- 1 1
o I I
3 oo ____1 _
LSO 4000 44
T T
g A 3
] ]
I I
I I
I I
E:::::::::::::::::::J
“180 5500 “180
T Tr
| s=1/100|
, 137080p 25000 ,80p 2025 1850, 1750, 2550
1850[87 1850,87p
— —
— — 2 2 — 40wx1
N N
2 i g —/ g
o o
—43 B — B —
o
A g i B | g
— i) n
2 & &
™ —
| | s | = : =
#3o 4000 jo
¢ ' “180 5500 “180 | o 8
Tr Tr (=] Q
1 - L1 g8 L1 g g
S=1/100 & &
25mx3 H=1100 9 .
L] L] )
IS 8
- - - - - — ) ) [ —
$=1/100 lood 2550 | |oop 2550 |
T T T T T T
| 5=1/100 | | 5=1/100 |
650- 8 0847-67T-2472
19(1) 3940 0847-671-380g°> /100 111572 No- A




2025, 1850, 1750, 2550

, 800

25000

137080p

7 007 0528

0082

0592 _ 0082 _ 0082

!

2550

1750,

1850,

2025,

4, 800

1500

H=

1/100

S=

10

No .

111572

- 2477

0847—6'—3808S 1/100

650- 8 0847-6
3940

19(1)

25000

=

Z 1 ___

137080p

l2a25psop




C-75*45*15%1.6
/; C-60*30*10*1.6 H 2@0
2C-607307ag"1.6 i~ 2C-60*30*10%1.6
S
c-15*45*15+1. 6
v g
/2 \_\— C-60%*30*10*1.6 H=200
1 H=1800 n\Aw/ C-75+*45+*15%1.6
: m
5500
T
: 1 130 130
! 8
| = = A
|
12 | 2 $=1/100 |
E 7
| H
' ~ ~ — — =5
| iR C-75+*45+*15%1.6
| \aw/
! _
I o 2c-6pr30*10*1.6
J: 25mx3 H=1100 1 C H e o S a N 2C-6Q*30%10%1.6
| : : e : : N
: l_ L \ C-60*30510*1.6 H=20(
: T =
@
| 1R 1y 1]
; | 1 5:1/100|
| (1
s . =100 [ \aw/
| | |
—
S=1/100
\aw / \aw/ \ap/ \ap/ \aw/ \sp/ \wp/
g 3 8
I~ g “ % Fl S F =§i=8 >~ g 3 _
o o o ® 8 ll'"'ll
gl < gl « 3 g - JII IIL 8 . g
— - - N A 5 —
1500 110 I'll”l"l -
NI |
80% 704 704 1530 1500
70
FIX FIX
70 70 70 70 70 O -40*40*1.6 36
t=4.0 t=4.0 t=4.0 t=4.0 t=4.0 130
1 1
650- 8 0847-61T-2472
19(1) 3940 0847-67-3808°> /100 111572 No- A 11




